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%2 % HBRItPERFBEHRMNEREEISE No. 1
RETEHAI RETEERE e
34 L 3- b= 1ﬁ;i =
# H BOF | ye mm mm s I T o | EOEEE WE
[ERZAR %
I #ETHE = 61,007,191 1 K 68,837,156 7,829,965 HEHEE
ERCERER ¢ 61,007,191 68,837,156 7,829,965 HE%H
Him g
I| % Y 2,274,023 1 &K 2,596,855 322,832 HE%E
0| B5E e 2y 5,214,344 1K 5,611,079 396,735 HE%E
S E X 9,363,342 1 KL 10,408,791 1,045,449 HE%H
Fam 16,851,709 18,616,725 1,765,016 H4%H
EFF 77,858,900 87,453,881 9,594,981 H4%H
T EMAS T AT 77,858,000 87,453,000 9,595,000 H4%E
TH B Bl S AH 24 %R 7,785,800 8,745,300 959,500 HE%E
WA (LFEE) 85,643,800 96,198,300 10,554,500 H4%E




%2 % HBRItPERFBEHRMNEREEISE No. 1
RETEEAT RETERR et
# H wE g B B s g B B o | EUEEE WE
I |BETSE
Al |BEMSMEEM SE T 1 =X 31,760,333 1 XK 36,690,857 4,930,524 HE%E
A2 |JEVEE T AMEEM S iE T F 1 = 11,661,632 1 = 13,444,583 1,782,951 \H4%H
A3 | BB B e iE TR 1 =X 15,675,184 1 XK 16,791,674 1,116,490 H4%5
A4 [HRIETPEsEE B & 1 = 1,910,042 1 = 1,910,042 0
&t 61,007,191 68,837,156 7,829,965 HE%H




%2 % HBRItPERFBEHRMNEREEISE No. 2
RETEEAT RETERR et
# H wE g B B s g B B o | EUEEE WE
Al |BEFENEMBUET S
1 |EERGETE 1 K 7,342,072 1 =X 7,342,072 0
2 Pk LE 1 = 8,050,137 1 = 8,010,577 -39,560 | J5i%E
3 |EBEE&ETE 1 K 2,638,778 1 =X 2,638,778 0
4 |FMEERIE T E 1 = 8,342,033 1 = 11,727,522 3,385,489 |HA%H
5 |BEEKETHE 1 3K 485,887 1 XK 485,887 0
6 |ZFofth T3 1 = 2,036,040 1 = 2,036,040 0
7T s 1 K 2,865,386 1 =X 4,449,981 1,584,595 H4%EH
&t 31,760,333 36,690,857 4,930,524 HE%E




%2 % HBRItPERFBEHRMNEREEISE No. 3
RETEEAT RETEERE a3
# H W= g B B s g B B e | FUHEEE RE
A2[EYRTIHNEMBIETSE
1 |EERGETE 1 K 1,665,319 1 =X 1,667,527 2,208 HE%H
2 Pk LE 1 = 2,993,613 1 = 2,993,613 0
3 |BE%KETHE 1 K 524,576 1] =X 524,576 0
4 |FMEERIE T E 1 = 4,271,633 1 = 3,803,288 -468,345 JREE
5 |BEEKETHE 1 K 584,353 1 XK 475,779 -108,574 Ji%E
6 |Fofh T 1 = 630,711 1 = 622,415 -8,296 JRAE
7 |HE-sE 1 K 991,427 1 =X 3,357,385 2,365,958 HA%H
&t 11,661,632 13,444,583 1,782,951 H4%H




%2 % HBRItPERFBEHRMNEREEISE No. 4
RETEEAT RETERR et
# H wE g B B s g B B o | EUEEE WE
A 3 |l El s B heiE T
1 |EERGETE 1 K 1,514,957 1] =X 1,514,957 0
2 Pk LE 1 = 3,505,621 1 = 3,505,621 0
3 |BEE&ETE 1 K 1,666,986 1 =X 1,666,986 0
4 |FEERIE T E 1 = 2,454,552 1 = 3,293,130 838,578 \HE%H
5 |BEEKETHE 1 3K 140,335 1 XK 140,335 0
6 |Fofh T 1 = 5,769,820 1 = 5,769,820 0
7T s 1 K 622,913 1 =X 900,825 277,912 H4%H
&t 15,675,184 16,791,674 1,116,490 H4%H




%2 % HBRItPERFBEHRMNEREEISE No. 5
REtEER RETEFR a3
® H L Y AT 28 | BB  EE M o | EUEEE WE
A 4 [BIRPERSNHEESRE
1 |G T F2V 1,406 = 1,406 0
2 |[BEdELE # 1,806,703 = 1,806,703 0
3 |-y F2V 101,933 = 101,933 0
&t 1,910,042 1,910,042 0




